# Natural Numbers and mathematical induction

We have mentioned in passing that the natural numbers are generated from zero by succesive increments. This is in fact the defining property of the set of natural numbers, and endows it with a very important and powerful reasoning principle, that of *Mathematical Induction*, for establishing universal properties of natural numbers.

### Principle of Induction

Let P(m) be a statement for m ranging over the set of natural numbers  $\mathbb{N}$ .

lf

- BASE CASE
- $\blacktriangleright$  the statement P(0) holds, and
- ▶ the statement

$$\forall n \in \mathbb{N}. (P(n) \implies P(n+1))$$

also holds

then

▶ the statement

$$\forall m \in \mathbb{N}. P(m)$$

holds.

## Binomial Theorem Vnew P(n)

**Theorem 29** For all  $n \in \mathbb{N}$ .

$$P(n) = \left( (x+y)^n = \sum_{k=0}^n \binom{n}{k} \cdot x^{n-k} \cdot y^k \right)$$

PROOF: We proceed by induction.

to prove frew. P(n).

BASE CASE: Show 
$$(x+y)^0 \stackrel{?}{=} \sum_{k=0}^{0} {n \choose k} x^{0-k} y^k$$

Note (21) =- 1 and Z R=0 (R) 20-ky == (0) 29=1

so ne cre dont.

Note The is defined by induction mnew obase case:  $\sum_{k=0}^{0} f(k) = f(0)$ · Indudry stip:

• Finductive step:  $\sum_{k=0}^{n+1} f(k) = \left(\sum_{k=0}^{n} f(k)\right) + f(nn).$ 

INJUCTIVE STEP:  $\forall n \in N. P(n) \Rightarrow P(n+1)$ Assure new. Assume P(n). That is.  $(TH) (x+y)^n = \sum_{k=0}^n (n) x^{n-k} y^k$  $(x+y)^{n+1} \stackrel{?}{=} \sum_{k=0}^{n+1} (n+1) \times (n+1-k) \times y^{k}$ 

Scratch work

$$(x+y)^{n+1} = (x+y)^{n} \cdot (x+y)$$

$$= \left(\sum_{k=0}^{n} \binom{n}{k} x^{n-k} y^{k}\right) \cdot (x+y)$$

$$= \sum_{k=0}^{n} \binom{n}{k} x^{n-k+1} y^{k}$$

$$+ \sum_{k=0}^{n} \binom{n}{k} x^{n-k+1} y^{k}$$

$$= \sum_{k=0}^{n} \binom{n}{k} x^{n-k} y^{k+1}$$

$$= \sum_{k=0}^{n} \binom{n}{k} x^{n+k} y^{k}$$

$$= \sum_{k=0}^{n} \binom{n}{k} x^{n+k} y^{k}$$

$$= \sum_{k=0}^{n} \binom{n}{k} x^{n+k} y^{k}$$

n-element set

Consider (NH)
R
Conjecture

$$\binom{n}{k} + \binom{n}{k-1}$$

$$\sum_{k=0}^{n+1} {n+1 \choose k} x^{n+1-k} y^{k} \\
= \sum_{k=0}^{n+1} {n+1 \choose k} + {n \choose k-1} y^{k} = \cdots$$

$$2^{n+1-n} \mathcal{J}^{n} = \cdots$$

#### Principle of Induction

from basis  $\ell$ 

Let P(m) be a statement for m ranging over the natural numbers greater than or equal a fixed natural number  $\ell$ . If

- $ightharpoonup P(\ell)$  holds, and
- $\blacktriangleright \ \forall \, n \geq \ell \text{ in } \mathbb{N}. \ \left( \, P(n) \, \implies \, P(n+1) \, \right) \text{ also holds}$  then
  - ▶  $\forall m \ge \ell$  in  $\mathbb{N}$ . P(m) holds.

### Principle of Strong Induction

from basis  $\ell$  and Induction Hypothesis P(m).

Let P(m) be a statement for m ranging over the natural numbers greater than or equal a fixed natural number  $\ell$ . If both

- $ightharpoonup P(\ell)$  and
- ▶  $\forall n \ge \ell \text{ in } \mathbb{N}. \left( \left( \forall k \in [\ell..n]. P(k) \right) \implies P(n+1) \right)$

hold, then

▶  $\forall m \ge \ell$  in  $\mathbb{N}$ . P(m) holds.

#### Fundamental Theorem of Arithmetic

**Proposition 76** Every positive integer greater than or equal 2 is a prime or a product of primes.

PROOF: f n>2 (nis prime) or (n is a product) of primes By stong induction: BASE CASE: (2 prince) or (2 a product of prince). Trivially true.

INDUCTIVE STEP Let n? 2 such That for all (TH) 25 RSn, (kprine) or (k is a product) of prines RTP: (non prihe) or (not is a product of primes) CASE(1) n+1 prime, Then we are done.

CASE(2) n+1 not prime, say n+1=p.q. The industrial hypotheris holds for p and g; that is, They are prime or products of primes. So p. g is a product of prime, and we are dall.



### **Theorem 77 (Fundamental Theorem of Arithmetic)** For every

positive integer n there is a unique finite ordered sequence of

primes  $(p_1 \leq \cdots \leq p_\ell)$  with  $\ell \in \mathbb{N}$  such that  $\qquad \text{Induchve} \qquad \text{I$ 

$$n = \prod(p_1, \ldots, p_\ell)$$
.  $\mathcal{T}() = 1$ 

$$n > 12$$
 80  $n = TT(p) = p$ 

**— 261** —

We want to show TT (p, .... pr) = TT (q, .... 9R) for pi and 95 primes and written i increasing stder => l=k and p1=91, p2=92, ...., pl=9k We prore it by induction on the length of the segnence (p1 — pe).

P(l) = Y p<sub>11</sub>..., pl ordered prohes FREN. Fg. -- gre ordered pries TT(p,-pe)= TI(g,-gr) =) l=k n fi=qi ∀i=1,---, l

Show by induction Heen. P(e).

Thea T(p, -pe) = T(q, -qe) P1/TT(p, - pe) = TT(q, - 9K) Pilgj An Some j.

Show That Pilg,

by cancell Ti'sh T(p2-pe) = T(q2-qR)